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15 12 25 10 14 40 49 18 24 21 28 36

Какие из этих чисел делятся на 5? 

Какие из этих чисел делятся на 6? 

Какие из этих чисел делятся на 7? 

15 25 10 40

12 18 24 36

14 49 21 28



Было - 54 м 
Отрезали  – 30 м
Осталось- ? 



Цена тетради 6 
руб6        5 =  30 
руб







Решите примеры:
 9 • 9 — 45 : 5 =  72           64 : 8  + 12 • 4 =56 

500-341=159      550-123 = 427      505- 322= 183
 



Было - 54 м 
Отрезали  – 30 м
Осталось- ? 

Было - 54 м 
Отрезали  – 5 кусков по 6 м
Осталось- ? 



Было -        кг

Продали -  4 ящика по 3 кг
  
Осталось -           кг


